<o @> (rad)
o
=
a1

o
[N

o
N

.................................

0
Y ISR B 8 G SO YO
_0.1 ...................................
+
-0.15 S R -
o—-0:2 | T B A T
B 1
o 1| 41440 411
0.9 b

< 00, > (M)

<opyp, > ()

Ratio

b

=
o
iN

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

414

—=— DQM_CKF_QCDHighPt_base

—— DQM_CKF_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch3

100r

o ™
o O
[

N
o
I

20

.....................................

RS

.....................................

....................................

©

H
+
r

4 B

1

o
N

1

5: : -
R e
| SRR B
p; TR (PP PR e
| S e
0 w*_m A
: +
.......... P
A
.......... R A
vl Ll
T1F
+
. PR e e e e a R
T T+H+ 8 T

= 100

N
o
I

c : i
—AQf - . A
2| S oo, SITIRE
_80:_ ....................... [ S *
o AT EETITT R 1 A A
o 100F : 1 :
I E : : T
[ ERPPPREOR ] Lt
E T 44 Tk
E : 1 :
| S . 4| 4
k L[

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


